
Livret de travail Anglais 4ème 

 

Le superlatif : 

 



Remet les phrases suivantes dans l’ordre : 

1. Biggest / the / Noumea / is / city / in / New Caledonia 

2. December / of / year / the / is / hottest / month / the 

3. The / popular / fishing / most / is / water / sport 

4. Closest / is / Australia / country / the/ New Caledonia / to 

5. Island / sunniest / it / the / the / in / Pacific / is 

 

Complète le texte en mettant les adjectifs entre parenthèses au superlatif : 

Football is ………………. (popular) sport on the planet. Professional football players are ……………… (rich)  

sportsmen and they have one of ……………… (hard) diets.  

The world cup is …………………. (big) sport event and it is ………………….. (watched) sport program on TV. 

For many kids football is ………………… (good) sport because it’s ……………… (easy) to play. You just need 

a ball and some friends. It is definitely ……………………… (interesting) sport.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Le Prétérit:  

 

 



 

 

1/ Mets les phrases suivantes au preterit 

a. My sister is at home  At 8 pm, my sister…………………………….. 

b. He’s got an idea  This morning, he ………………………………………………. 

c. They play tennis in the garden  Yesterday, they…………………………………………… 

d. My sister goes to school by bus  Last Monday, …………………………………………………….. 

e. They eat at home with their parents …………………………………………………………………….. 

f. I am in London  Last week, I ……………………………………………………………… 

g. I visit London every year  Last year, I……………………………………………………………. 

h. I watch tv every night  Last night, I …………………………………………………………………….. 

 

2/ Entoure les verbes et écris le contraire de la phrase avec ou sans – NOT- 

a. Yesterday, I watched TV  ………………………………………………………………………………………… 

b. I went to London last year  …………………………………………………………………………………….. 

c. We visited the British museum ………………………………………………………………………………. 

d. We didn’t see the queen  ……………………………………………………………………………………….. 

e. My parents had dinner in a nice restaurant  …………………………………………………………… 

f. We didn’t watch the changing of the guard  ………………………………………………………….. 

g. We didn’t like the holidays in London  we ……………………………………………………………… 

 


